CCT - ENGLISH
CLASS - XII
Q1. Read the passage and answer the questions that follow:

Soft skills are personal attributes that enable someone to interact effectively. These skills can
include social graces, communication abilities, language skills, personal habits, emotional
and leadership traits .Soft skills are skills which are desirable in professions. Soft skills are
a combination of interpersonal skills, social skills, communication skills, character traits,
attitudes, career attributes and emotional intelligence quotient (EQ) among others. This is in
contrast to hard skills, which are specific to individual professions. “Hard skills include
technical or administrative competence”. Hard skills, also called technical skills, are any
skills related to a specific task or situation. It involves both understanding and proficiency in
such specific activity that involves methods, processes, procedures, or techniques. These
skills are easily quantifiable unlike soft skills, which are related to one’s personality. Hard
skills can be or have been tested and may entail some professional, technical, or academic
qualification

The term soft skill was created by the U.S. Army in the late 1960s. It refers to any skill that
does not employ the use of machinery. The military realized that many important activities
were included within this category, and in fact, the social skills necessary to lead groups,
motivate soldiers, and win wars were encompassed by skills they had not yet catalogued or
fully studied. The importance of soft skills lies in the fact that they are not restricted to a
specific field. These thinking dispositions consist of a group of abilities that can be used in
every aspect of people’s lives, without any need to readapt them based on the situation. Their
ductility helps “people to adapt and behave positively so that they can deal effectively with
the challenges of their professional and everyday life”. Soft skills make people flexible in a
world which keeps changing.

The importance of soft skills lies in the fact that they are not restricted to a specific field.
These thinking dispositions consist of a group of abilities that can be used in every aspect of
people's lives, without any need to readapt them based on the situation. Their ductility helps
“people to adapt and behave positively so that they can deal effectively with the challenges of
their professional and everyday life”. Soft skills make people flexible in a world which keeps
changing.

1. Read the statements below and choose the right option that characterise soft skills
1. Not confined to individual professions

ii. Enhances flexibility in the changing world

iil. Are quantifiable

iv. Are related to I1Q

a. 1,iii,1v

b. Only i


https://en.wikipedia.org/wiki/Leadership#Traits

c. 1,1
d. 11,111,1v

Answer- Option c- i,ii

2. Their ductility helps people to adapt and behave positively implies.......
a.The quality of flexibility specific to soft skills

b. Organisational ability

c. Decision making ability

d. Rigidity of soft skills

Answer- Option a- Quality of flexibility specific to soft skills

3.. The passage presents contrast between hard and soft skills.

Read the statements below and choose the option that depict hard skills
i. I can build a fence

i1. I can express myself in front of people

iii. I can repair a car

iv. I am easy to work with

a. 1,11,iv

b. 1,iii

c. Only iii

d. ,ii1,1v

Answer- Option b- i,iii

4. Choose the option that DOES NOT form part of passage description

a. Origin of the soft skill concept



b. Soft skill versus hard skill
c. Significance of soft skills

d. Teaching of soft skills

Answer- Option d- Teaching of soft skills
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PHYSICS

p-n JUNCTION

A p-n junction is the basic building block of many semiconductor devices like diodes,
transistor,etc. Consider a thin p-type silicon (p-Si) semiconductor wafer. By adding precisely
a small quantity of pentavelent impurity, part of the p-Si wafer can be converted into n-Si.
There are several processes by which a semiconductor can be formed. The wafer now
contains p-region and n-region and a metallurgical junction between p-, and n- region.

1 Carbon, silicon and germanium have four valence electrons each. These are characterised by
valence and conduction bands separated by energy band gap respectively equal to (Eg ).,
(Eg ) and (Eg )g.. Which of the following statements is true?

(a) (Eg )si < (E8 Jee < (E8 )c

(b) (Eg )c < (Eg )ee > (E8 )s;

(c) (Eg )c> (Eg )si > (E8 )ge

(d) (Eg)c = (Eg )y=(Eg )Ge

2 n Type semiconductor is

(a)Intrinsic semiconductor

(b) Electrically neutral

(c) Negatively charged

(d) Doped with electrons

3 When a forward bias is applied to a p-n junction, If we increase the applied voltage
significantly, then




(a) the depletion layer width decreases
(b) the barrier height is reduced.

(c) minority carrier injection take place
(d) All the above

4 Identify the wrong statement about Solid-state semiconductor devices
(a) No external heating or large evacuated space is required

(b) Small in size and consume low power

(C) Operate at low voltages and have long life

(D) Low reliability and low power

5 For an ideal diode

Dy Dy

20V

200

(a) Current through D1is 0.1 AandforD2is0

(b) Current through D1is 0.1 A and for D2 is 0.1A
(c) Current through D1 is OA and for D2 is 0

(d) Current through D1is 0.01 Aand forD2is0

Answers

1.(c) (Eg )c> (Eg)si > (E8 )ee

2. b)Electrically neutral

3. (d) All the above

4. D) Low reliability and low power

5 ) C Current through D1 is OA and for D2 is O

CHEMISTRY

PROTEIN STRUCTURE

POLYPEPTIDE CoMPLEX OF
cEAINS PROTEIN MOLECULE

AMING ACID U -EXELIN

Proteins fold into stable three-dimensional shapes, or conformations, that are determined by
their amino acid sequence. The complete structure of a protein can be described at four
different levels of complexity: primary, secondary, tertiary, and quaternary structure.



1. Fibrous and globular proteins are:
(A) Primary structure of Protein
(B) Secondary structure of Protein
(C) Tertiary structure of Protein

(D) None of the above

2. In the secondary structure of protein regular folding of backbone of the Polypetide
chain is due to:

(A) Vanderwaals bonds

(B) Ionic Bond
(C) Co-valent bond

(D) Hydrogen bonds

3. Which among the following protein is insoluble in water?
(A) Insulin

(B) Myozin
(C) Albumin

(D) None of these

4. During denaturation structure of protein remains intact.
(A) Primary

(B) Secondary
(C) Tertiary

(D) Quaternary

Answers: 1.C 2.D 3.B 4. A

BIOLOGY
Read the content and answer the following questions

Antibodies are class of proteins called as immunoglobulin that are produced when an antigen
attacks the body. The antibody molecule has four peptide chains that is two small chain called as
light chains and two longer chain called as heavy chains Therefore an antibody is represented as H2
L2.The different types of antibodies produced in our body are Ig A, Ig M, IgE, Ig G.

1) The cells which are primarily responsible for Cell mediated immunity are
a) T lymphocytes

b). B lymphocytes

C). both Band T lymphocytes

d) none of the above

2) light and heavy chains are linked to each other by



a) hydrogen bonds

b) glycocidic bonds

¢) disulphide bonds

d ) phosphor digester bond
3) Which among the following is responsible for graft rejection?
a) the cell mediated immune response

b) Humoral immune response
C) primary immune response
d) none of these
4) which among these are the antibodies produced at the time of allergy
a) IgA

b)lg M

c)IgE

d)IgG

Answer Key:
1) a
2). d

3). a

CCT QUESTIONS FOR CLASS XII CS

1) To open a file c:\test.txt for reading, we should give the
statement:

a) filel = open('c:\ test.txt", "r")
b) filel = open('c:\\ test.txt", "r")
c) file = open(file = "c:\ test.txt", "r")

(
(
(
(d) filel = open(file = "c:\\s test.txt", "r")

ANSWER b

2) Which of the following statements is/are true?

(a) When you open a file for reading, if the file does not exist, an



€rror occurs.

(b) When you open a file for writing, if the file does not exist, a
new file is created.

(c) When you open a file for writing, if the file exists, the existing
file is overwritten with the new file.

(d) All of the above.

Answer d

3) To read two characters from a file object from, the command
should be:

(a) fobj.read(2)

(b) fobj.read()

(c) fobj.readline()
(d) fobj.readlines()

Answer a)

4)The readlines() method returns:

a) String

b) A list of integers
(c) A list of float

(d) A list of strings
ad

nswer d

(
(



